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where R is the region given by0gx <], 0<gy<}

_Find the volumne of the solid of revolution formed by revolving

the region hmmded'h}“ y= —2; , y=0and x=0

about the x-axis (if possibte). O (10%)
5. Verify the convergence of the tollowing geometric seties.
-2 B 32 128
= : @ _
®) § fon"-097] » (aoy
# = (] 3 .

C EFack G wgstiane Conanty ok .

Answer AL ?Iu._c.ahmﬂ .



B) Suppose cauntry A's par-capita GMFP la 11 imas that of country 8, Howevar, country 8's rate of
par-tapita [neoma growth i 12% par year, while country A's grawth rate is B% par year. Assuming
thal these growth rates are stable angd conknucus, how many ysars would be raquired to egualize
per-capia incames m the o countries™

71 The problem with autorratic cash machines is that the user pays a service charga for each
withdrawl. But if cne tries to avaid the problem by making large withdrawls at infraquenst intervals, ane
miLat carry jarge amounts of cash and run the risk of lces or theft. Suppocs & parson has 2 steady
cash expenditure requirement (£} of NT3$ 1800 per day, and each withdrewl requires a service charge
{Cy of NT$ 20. Furtharmore, on any spacific day, this person has a probability (P) of .004 of losing ail
his cash through 1oss or theft If the person's mvarages Sash holiding s exactly half of his avarage cash
machine withdrawl amount, what s tha optimal amaount (s withdraw an sach vial to ﬂ*m cash

machine, and how frequently should he withdraw?

8) Suppose your irm faces a demand curve describad by F{Q). it can supply e praduct from two
factofies, which have differant cogt functions: G1{g1) and C2(g2). QA = a1 + g2, what ahould the
profit-maxkmizing tota| output &f the firm ba, and haw muct shouwld be supptisd fram sach fal:turfi*_
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2} Let outpul be 2 function of r:aphil and labar inpute QK L). What iz the maost efficient inpul mi
with which to produce a fotal owtput of 900 units, if the ¢ost of a unit uf capital 15 4 mes the cost of
a unit of iabor? :
1
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10 A copsumer of two products (X, obtains utiliy U{X, Y)Y = ‘r’-n.ll X The consumars budget
reamains conelant at 120_ If tha price of good X rematns constant at 10, find tha gain n the
consumer's tolal utility frorn e fall in the priee of ¥ from 10 1o B,
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